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1. Move all variables to one side. Try to end up
with a positive coefficient for the variable.

2. Move all constants to the other side.

3. Solve for the isolated variable.

Ex. Solve

(@) 3x@54 (b) 8@%
'"ZX"Z 494 ‘2 <
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Recall: Distributive Property (expanding)
@53 (6) 2(y—2)
= sy -/S =2y-¢

©) 5(y-3)+2(y-2)

= g\a,‘ (S +Zé -4y

=3 9~ 19
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When solving, try to keep the 'equals’ sign aligned. @
Ex. Solve 2(x—-3)=-3(x+5)—6
\{'/” W

2’)1*'4 = -Sx —/Y—é

2% —b =-Sx =2/
2x+(  +2x + 6

Sx = )¢
T =
X=-3

For some solutions, you may be asked to verify your
answer using a formal check.

The check has a specific form you must follow. ©

Ex. Verify thatx =-6is a solutionto 3x +2 =2x—4
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Summary

(1) Expand.

(2) Isolate variables on one side.

(3) Isolate constants on the other side.
(4) Solve.

(5) Verify (if required).

Assigned Work:

p.200 #1, 2, 4, 5, 9bdf, 10, 13, 15, 18
< ad d b\

Rowgh
1© 4b=2-gw —gwi - fw-3w
bo=2-(lw =-llw
M“-{L'\‘ll\)\)
U =4
T 0\
w=-4
@) 2444-9d+12=0
-Ld +lb =0
- -1k
—bd =ik
- -b
d="%"
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d=3
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S 4

@) 3(+-Y4) = -2 (4+3) +1y
3t /2 =-2t -6 +1¥

St-12 = -2t +§

+2t +12 +2t +12

t=¢

St = 20 (=9
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) 4(k-=3) =2 (2K )
Yb— 12 =72 -2k+4

4t - 12 = -2k +Y¥
42k + 12 »2k +12
¢k = 2o
b o
20
k="%

_ (0
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P=P
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